
Find the mean from the frequency table

Complete the table, when the mean = 2.8

Find the mean from the frequency table

Find the mean from the frequency table

Age Frequency

2 4

3 3

4 2

5 5

6 1

Shoe size Frequency

4 3

5 4

6 5

7 4

8 2

Sweets Frequency

10 5

11 4

12 6

13 12

14 10

Age Frequency

1 5

2 8

3 6

4 8

5 1
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Find the mean from the frequency table

Age Frequency

2 4

3 3

4 2

5 5

6 1

Shoe size Frequency

4 3

5 4

6 5

7 4

8 2

Sweets Frequency

10 5

11 4

12 6

13 12

14 10

Age Frequency

1 5 5

2 4 8

3 2 6

4 8 32

5 1 5

8
9
8

25
6

15 56
Mean = 3.73.. Mean = 5.8…
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20
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18 106

50
44
72

156
140

48 462
Mean = 9.625 20 56


